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QUESTION 1
Which option is a design consideration when using routers in a distributed hardware architecture?

A. Routing information is stored in the RIB and the FIB makes forwarding decisions as programmed on the line card
hardware

B. After a link failure occurs in the core, the RIB continues to forward the traffic while FIB convergence is in progress
C. BGP routes are stored in the RIB and IGP routes are stored in the FIB
D. IP routes are stored in the RIB and MPLS labels are stored in the FIB

Correct Answer: A

QUESTION 2

Which two options are I0T use cases that require the low-latency and high reliability that 5G networks provide? (Choose
two)

A. Sports and Fitness
B. Smart Home

C. Automotive

D. Smart Cities

E. Industrial Automation
F. Health and wellness

Correct Answer: CE

QUESTION 3

A service provider plans on implementing IPv6 using 6PE. What are two drawbacks of the 6PE approach? (Choose
two.)

A. The MPLS routers should have IPv6 enabled before they can respond to ICMPv6 messages.

B. The label allocation modeis per-prefix so the label tablegrows as the BGP table increases.

C. A single RIB and FIB is required for each connected customer so scalability issues can arise in the future.
D. Itis a disruptive way to introduce IPv6 into an existing MPLS service.

Correct Answer: AB
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QUESTION 4

Drag and drop the technology, protocol, or optimization mechanism about IGP reactive Fast Convergence on the left
into the corresponding phase on the right.

Select and Place:

Correct Answer:
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QUESTION 5

As network designer, which option is your main concern with regards to virtualizing multiple network zones into a single
hardware device?

A. Fate sharing

B. CPU resource allocation
C. Congestion control

D. Security

E. Bandwidth allocation

Correct Answer: A
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